If the volume of the solid bounded by the plane z = 4 and
the paraboloid z = 5 — T’ — y2 is given by

Ak Ay fob(c — %) drdf, thena + b+ ¢ =

Select one:
O 4

O 6
O 7
8
) 9



Which of the following statement(s) is/are TRUE 2

(1) For any vector % and v, ,-1?-{- ;)I = l;:l - I;)[
(Il) For any vector & and v, (;) X ;)) .4 =0
(Ill)lf;}x ?: ?,then ;4')= gor-r?: ?))

Select one:
O () only
O (1) and ()
@ (ll) only
O (1) only

(lJand (I}

~

2 p1 a prox
If f, fy/2 Hz,y) dzdy = [; [,” f(z,y) dydz, ihen
a+b+ec=




By converting fo polar coordinates,

oV () dy e =

Select one:
O 57
® 45

2(5)"x

@ !
J

® 5ir



o 10

The Jocobion of the transformation u = “;(‘ +y)ondu = %‘y

Select one:
1

z)bs J(u,w) =



The lm‘egrol

— Vi-z
f— f_\;;:z:‘ 22_+m (-’L‘ 7 -1-242)5/2 dzdydz can

021r 0 obm¢ pCsing dp d¢ db, then

be written as

Select one:
@ 2G|

O 9
o
O 10

R °

The length of the cur
5 VO SlLY =g 2y 125/ s
r(t) t1+~§t/.],0f~_it-'-_fl3,is
Select one:

i 22
3



Let f(z,y) = 2ycos(zy). Then the directional derivative of f
at the point (0, 1) in the direction of a unit vector making an
angle 6 = 7 with the z—axis is

Select one:



2 pl a pcr
it fo [y F(@y) dzdy = [y [, f(z,y) dydz, then
a+b+c=

Select one:
{ 2

@

% 3
O

O

e o=

By converting to polar coordinates,

B o/ ;
| 5‘[0‘/ (22 +y?)** dy dz =

Select one:
5%

. 4%z
3




fan B £ & @ difierentiable funcion with f(1,1) = 2.1, £,(1,1) = 3, and £,(1,1) = 4, use
nate £(1.1,0.9) | |




Using the transformation z = "—;'3, = ";”, if
va

fRfe Hd A 2f f ev du dv, where R is the region in

the zy—plane bounded by the linesz —y =2,z —y = 1,
x=0,andy=0,thena+b—c=

Select one:

(@é 2
O 3
O 0

2= 1



The tqngen’nal componem‘ of the occeleranon of
r(t) = cos t i + sin® t], 0<t< 2,:5 ‘

Select one:
O ar = 3sint

| VAR e s T

O ar = 3cost | £ =S
%GT 3sintcost
- O ar =3cos2t

- O ar=3sin2t

¥




The maximum value of f(z, %) =T+ y— z, subject to the
constraint 2 = 42? + y? is equal to

Select one:







S0 e maximum of f(z,y) =% 4 2xy — 2y on the closed tiangular region bo""‘ded
s Y= 0, z = 2, s equal to .



The equation y2 -xt =72 42 = () has a graph
of hyperboloid of

Select one:

O two sheets and z—axis as an axis of
symmetry

_ fwo sheets and y—axis as an axis of
symmetry

O two sheets and x— axis as an axis of
symmetry

(O one sheet and y—axis as an axis of symmetry

O one sheet and x—axis as an axis of symmetry



—~ .y
£SE
.l:

fu=z2%+yln(zy+ 2),z = s* +t,y = e, z = stan ' ¢, then'

Select one:
O 3

%1

i,' g0 4

Cleur My .C

>3 ‘



The tangential com ‘
ponent of the acceleration of r(t) = cos®t i + sin®*¢j, 0 <t

Select one:
O ar = 3cos2t

) ar = 3Sint



Which of the following points is in the domain of f(z, y) = In(z+y +1 ‘
\ ‘(-\

Select one:
O (0,-1)
0 (~2,-1)
(~1,0)
(-1,1)
("2a1)




4 ‘ o
Evaluate the following infegral by reversing the order of infegration [, f,_‘: 08(Z”

Select one:.
O sin(1)



Let f (-‘l'a y) 2yoos(zy) Then the directional derivative of f at the poh' (0, 1|
angle @ = = 3 With the z—ads is

Select one:
O ¥2
2

O —v2

~ l
; v§ -+ -

%, V2

1

. —— —

1
vz 2




V2 sin® z

f f(z,y) =4 2 (z,y) # (0,0) ran gl
, ’ (-T,y)=(0,0),

Select one:

® not continuous at (0, 0) for all values of k
continuous at (0,0) if k =
continuous at (0,0) if k = 0
continuous ot (0, 0)if k = -2'-

continuous at (0, 0) for any recl L,.' P



The function f(z,y) = y3 , 6y2 t 3z%y — 6z% has

Select one:

B O two local minima and one saddie point
O three local minima
O two local maxima
® four crifical points only
three saddle points
'I!!{
"y




Evaluate the following integral by reversing the order of

e cos(z?) dz dy =

4

integration |, 04 i

t of
Select one:

% 2 sin(1)

0 sin(1)
2 — sin(1)
3 cos(1)

T



Evaluate the following integral by reversing the

order of integration /02 /ll_ v cos(x?) dx dy =

-~

Select one:
O«

@ 2sin(l)
O 2 —sin(1)
O sin(l)

O 3cos(1)



T i two plones 2 — Y+ 22 = 1443 and 2 + 2y — 2 = 20215

\ 0 =X
o-%
, 0"“
&4
3

o

\

The absoste masmum of f(x,y) 2?4 ey - y on e closed Mangular region bounded by he
Sym2z, ye 0,22 nequalio




V-I“ Jo(c — r*)r drd, then3a + b — ¢ =

Select one:
® 6
O 9

O

O

7
8
4

O




If the vectors o =i+2j+3k T =] + k and
——)

w =1+ xk are coplaner (located in the same
plane), then 2x =

Select one:
o 2

3

O O O O
=

Question 3
Not yet answered
Marked out of 2.00

" Flag question

Evaluate the following integral by reversing the

order of integration /02 f]l_; cos(x?) dx dy =




Which of the following limits does not exist ¢

. z' 4 y‘
s . s
(z.9)(0,0) =¥
| : Ty
2) hm —
(z,w)*{0V,0) &ETy
- rt+u
lim

(z.y MDO) v & Yy

. -
e



'—

Paklegra [°, V42 (2,

. v. \‘ r. .J' I. i ",,' i :‘D)’
rm @
-’I !o If sin Q‘pr deh di

“dz dy dr

N Do writton ‘M
a4+ by

Seloct one
09
O 8
Q.7
10

h '0‘(}\'-" )} MMt

OOUQ'H'\Q he orelor o be ",,} y




Using the fransformation z = =2, y = “* n‘f”fcrv dA = 'f fa,c dudv,whereRlslhe
" bounded by thelinesz —y=2,z —y=1,z=0,andy = 0, thena — b — ¢ =

"“ ’Select one:
&\ RO 2

\0»3

K4

-‘

% i"' :" o
_;
~
»
,

1
o ko’ O

Git en fhofftsadrfferenrlobe function with f(1,1) = 2.1, f.(1,1) = 3, and fi(1,1) =4,
?ﬁ-mfalog)

-




The absolute maximum of
flx,y) = x2 + 2xy — 2y on the closed triangular

region bounded by the lines
y=2x, y=0, x = 2,is equalto

Select one:
o 12



Which of the following limifs does not exist ¢

4 4
| li Iz +y
Y, ()-(00) P
Ol ==

(z,y)—(0,0) 1Y

el 1 e i ax

(z,y)(0,0) VZ*+y°

Select one:
O (1) and (2) only

® (2) and (3) only



2Nt of the acceleration of rt)

cos’ ti+sin’t), 0<




AN : g
en that f is a differentiable function with f(1, 1) =21, f:(1,1) =3, ond f,,(1,1) = 4, use
nate f(1.1,0.9) |



T et e,

[

(Z,y) # (0, 0) then f(z, ﬂ)

("’w = (0,0),

Select one:

CE? continuous at (0,0) if k = 1

O continuous at (0, 0) for any real number k
O not continuous at (0, 0) for all values of k
® continuous at (0,0) if k = %

O continvous at (0,0) if k= 0

Clear my choice



Let f(x,y) = xy. The slope of the tangent line at the point

(2,4) to the level curve of f that passes through the point
(2,4) is

Select one:

O 8
Q =2

Yo 2
Z -

@
b | -



y? sin? z

lff(m,y)z{ 2 0 (29)#(0,0)
k ) (z,y)Z(0,0),

then f(z,y) is

Select one:
Cﬁ\\s continuous at (0,0) ifk = 1
O continuous at (0, 0) for any real number k&

O not continuous at (0, 0) for all values of k

® confinuous at (0, 0)ifk = %

O continuous at (0,0) ifk = 0



The function f(z,y) = y° — 6y* + 3z%y — 622 has

Select one:
O two local minima and one saddle point

O two local maxima
- O three local minima

O three critical points only

% two saddle points



:1::1~t’ Y
=113 ¢
Select one:
O 2

® 0

B

J-3



~ Which of the following limifs does not exist 2~

%
. (z,yl)iE%O,O) ;i::
5 (z,yl)if?om iy
B
Select one:

O (1) and (2) only



